V o 7 /7

Racing Screensg
MOTOPLASTIC, S.A.

Moli de lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com
www.puig.tv - www.puigusa.com

Ref.: 8541N

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

PORTAMATRICULAPARA - LICENSE SUPPORT FOR - KENNZEICHENHALTER FUR
BMW R1200R, R1200RS, R1250R-& R1250RS

/
' 4

(®) ]
Ne 3
N° 4 Ne 27 N° 8
N° 6 N° 30 N° 10

1 persona
1 person

aEEEbd
.‘ Dificil-Difficult

Montaje eléctrico
50 min Electrical installation

DESCRIPTION
1 M{&Q‘i Tapa de plastico Plastic cover 1
2 Soporte metdlico fijo Metal support 1
3 Conjunto soporte portamatricula License support ensemble 1
A
4 @z, Catadriéptico (se suministra montada en conjunto n°3) | Light reflector (supplied mounted in support n°3) 1
5 ﬂ@ Tuerca M6 enjaulada (se suministra montada en soporte n°2) | M6 Caged Nut (supplied mounted in support n°2) 2
6 @ Silentblock M5 M5 Silentblock 2
7 oy, Tornillo Allen M5x20 ISO 7380 (negro) M5x20 I1SO 7380 Allen Screw (black) 2
8 Oy Tornillo Allen M6x10 ISO 7380 (negro) M6x10 ISO 7380 Allen Screw (black) 2
9 €y Tornillo Allen M6x16 ISO 7380 (negro) M6x16 1SO 7380 Allen Screw (black) 4
10 O Tornillo Allen M5x10 ISO 7380 (negro) M5x10 ISO 7380 Allen Screw (black) 1
11 © Arandela metdlica M6 (negra) M6 metal washer (black) 4
12 Tuerca autoblocante M6 M6 Block nut 4
13 Tuerca autoblocante M5 M5 Block nut 1
14 Silentblock Silentblock 2
15 ) Casquillo con valona Bush with flange 2
16 @% Tornillo M8x20 M8x20 DIN 912 Allen Screw 2

Pg. 1/7

Created by: www.ciandisseny.com



V o 7 /7

Racing Screensg
MOTOPLASTIC, S.A.

Molide lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com
www.puig.tv - www.puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

PORTAMATRICULAPARA - LICENSE SUPPORT FOR - KENNZEICHENHALTER FUR
BMW'R1200R, R1200RS, R1250R & R1250RS

DESMONTAJE
DISASSEMBLY

DESCONECTAR

UNPLUG

7 e
=4

Created by: www.ciandissen




Py

Racing Screers

MOTOPLASTIC, S.A.

Moli de lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 3493 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com
www.puig.tv - www.puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

PORTAMATRICULA:PARA - LICENSE SUPPORT FOR - KENNZEICHENHALTER FUR

BMWR1200R, R1200RS, R1250R.& R1250RS

DESMONTAJE DESMONTAJE
DISASSEMBLY DISASSEMBLY

DESMONTAJE
DISASSEMBLY

Pg. 3/7

Created by: www.ciandisseny.com



V o 7 /7

Racing Scr’eensg
MOTOPLASTIC, S.A.

Moli de lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com
www.puig.tv - www.puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

PORTAMATRICULAPARA - LICENSE SUPPORT FOR - KENNZEICHENHALTER FUR
BMW'R1200R, R1200RS, R1250R & R1250RS

DESMONTAJE
DISASSEMBLY

o~
N MONTAJE
ASSEMBLY

MONTAJE
ASSEMBLY




Py

Racing Screers

MOTOPLASTIC, S.A.

Moli de lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com
www.puig.tv - www.puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

PORTAMATRICULAPARA - LICENSE SUPPORT FOR - KENNZEICHENHALTER FUR
BMW'R1200R, R1200RS, R1250R & R1250RS

INSTALACION CON LA LUZ ORIGINAL BMW
INSTALLATION WITH THE ORIGINAL BMW LICENSE'S LIGHT

MONTAJE
ASSEMBLY

MONTAJE
ASSEMBLY

Created by: www.ciandisseny.com




V o 7 /7

Racing Scr’eensg
MOTOPLASTIC, S.A.

Molide lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com
www.puig.tv - www.puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

PORTAMATRICULAPARA - LICENSE SUPPORT FOR - KENNZEICHENHALTER FUR
BMW R1200R, R1200RS, R1250R-& R1250RS

_ D) yv/ay
' MONTAJE AWQ N MONTAJE
ASSEMBLY ASSEMBLY

AN

Created by: www.ciandisseny.com

Pg. 6/7



V o 7 /7

Racing Screensg
MOTOPLASTIC, S.A.

Moli de lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com
www.puig.tv - www.puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

PORTAMATRICULAPARA - LICENSE SUPPORT FOR - KENNZEICHENHALTER FUR
BMWR1200R, R1200RS, R1250R & R1250RS

Created by: www.ciandisseny.com






